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fa: Jud: _ ezuuu_
(2% + 4)(4x — 5) + 6% +2x + 1 3x — (1+ 6x)(2x — 1)(2x — 6)
(4x — 5)(2x* —4x— 6) — Bx + 1)(x - 5) (2x* — 5x — 1)(6x + 6) + 6x + 3
(4x + 3)(4x — 3)(5x — 6) (6xF — 3)(2x +3) — 6% +dx + 5
5x— (5+3x)(x — I)(4x +3) (5x = 6)(3x” —x — 4) — (4x — 5)(4x — 4)
(5x — 4)(4x — 2)(2x — 1) (x+ 2)(3x% — 5x— 5) + (5x — 5)(6x + 1)
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(2% + 4)(4x — 5) + 67 +2x + 1
8x° — dx* + 18x— 19

(4x — 5)(2x% — 4x— 6) — Bx + )(x — 5)
8> — 29x% + 10x + 35

(4x + 3)(4x — 3)(5x — 6)
S0x° — 96x° — 45x + 54

S5x—(5+3x)(x— 1)(4x + 3)
—12x° = 176% + 19x + 15

Gx—4)(4x—2)(2x— 1)
40x° — 720 + 42x— 8

Jun: ATLLUU:

3x— (1+ 6x)(2x — 1)(2x — 6)
—24x> + 80x — 19x— 6

(2x% — 5x— 1)(6x + 6) + 6x + 3
1253 — 18x% — 30x — 3

(6x% — 3)(2x +3) — 6% +4x +5
12x° + 12x% — 2x — 4

(5x — 6)(3x% —x — 4) — (4x — 5)(4x — 4)
15 — 39%% + 22x + 4

(x+ 2)(3x% — 5x— 5)+ (5x — 5)(6x + 1)
3+ 31x% —40x — 15
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